
Contract 15-025-12, Group C (Re-Bid) 

#15C25—VALVES 

ITEM # MM #  DESCRIPTION U/I 

1.  105934 VALVE,CHK,SUMP PUMP,VERTIN-LINE,1-1/2" EA 

2.  105956 STRAINER,WYE,1/2",CI,SS.SCREEN,250LB,THR EA 

3.  105957 STRAINER,WYE,3/4",CI,SS.SCREEN,250LB,THR EA 

4.  105958 STRAINER,WYE,1",CI,SS SCREEN,250LB,THR EA 

5.  105959 STRAINER,WYE,1-1/4",CI,SS.SCRN,250LB,THR EA 

6.  105961 STRAINER,WYE,2",CI,SS SCREEN,250LB,THR EA 

7.  105986 STRAINER,LINE,Y,3/4"SCREW,SARCO TYPE CT EA 

8.  105988 STRAINER,LINE,Y,1"SCREW,SARCO TYPE CT EA 

9.  105994 BASKET,STRAINER,SS,F/DBL BSKT,HAYWARD#50 EA 

10.  106290 TRAP,STEAM,3/4",#800,20PSI EA 

11.  106293 TRAP,STEAM,3/4",ARMSTRONG#800,150PSI EA 

12.  106294 TRAP,STEAM,3/4",#811,30PSI EA 

13.  106396 VALVE,BALL,SCREW,FULL PORT,BRNZ,1/4" EA 

14.  106397 VALVE,BALL,SCREW,FULL PORT,BRNZ,3/8" EA 

15.  106398 VALVE,BALL,SCREW,FULL PORT,BRNZ,1/2" EA 

16.  106399 VALVE,BALL,SCREW,FULL PORT,BRNZ,3/4" EA 

17.  106400 VALVE,BALL,SCREW,FULL PORT,BRNZ,1" EA 

18.  106401 VALVE,BALL,SCREW,FULL PORT,BRNZ,1-1/4" EA 

19.  106402 VALVE,BALL,SCREW,FULL PORT,BRNZ,1-1/2" EA 

20.  106403 VALVE,BALL,SCREW,FULL PORT,BRNZ,2" EA 

21.  106414 VALVE,BALL,SS,316,2000PSI,WOG,1/4" EA 

22.  106415 VALVE,BALL,SS,316,2000PSI,WOG,1/2" EA 

23.  106416 VALVE,BALL,SS,316,2000PSI,WOG,3/4" EA 

24.  106417 VALVE,BALL,SS,316,2000PSI,WOG,1" EA 

25.  106421 VALVE,ANGLE,BRNZ,125LB,1/2" EA 

26.  106422 VALVE,ANGLE,BRNZ,125LB,3/4" EA 

27.  106423 VALVE,ANGLE,BRNZ,125LB,1" EA 

28.  106429 VALVE,CHECK,HORIZ,125LB,1/4" EA 

29.  106439 VALVE,CHECK SWING,HORIZ,BRNZ,200LB,1/2" EA 

30.  106440 VALVE,CHECK SWING,HORIZ,THRD,125LB,1/2" EA 

31.  106442 VALVE,CHECK SWING,HORIZ,BRNZ,200LB,3/4" EA 

32.  106443 VALVE,CHECK SWING,HORIZ,THRD,125LB,3/4" EA 

33.  106445 VALVE,CHECK SWING,HORIZ,BRNZ,200LB,1" EA 

34.  106446 VALVE,CHECK SWING,HORIZ,THRD,125LB,1" EA 

35.  106448 VALVE,CHECK SWING,HORIZ,BRNZ,200LB,1-1/4 EA 

36.  106449 VALVE,CHECK SWING,HORIZ,THRD,125LB,1-1/4 EA 

37.  106451 VALVE,CHECK SWING,HORIZ,BRNZ,200LB,1-1/2 EA 

38.  106452 VALVE,CHECK SWING,HORIZ,THRD,125LB,1-1/2 EA 

39.  106454 VALVE,CHECK SWING,HORIZ,BRNZ,200LB,2" EA 



Contract 15-025-12, Group C (Re-Bid) 

#15C25—VALVES 

ITEM # MM #  DESCRIPTION U/I 

40.  106455 VALVE,CHECK SWING,HORIZ,THRD,125LB,2" EA 

41.  106457 VALVE,CHECK SWING,HORIZ,FLNG,125LB,2-1/2 EA 

42.  106459 VALVE,CHECK SWING,HORIZ,FLNG,125LB,3" EA 

43.  106460 VALVE,CHECK SWING,HORIZ,FLNG,125LB,4" EA 

44.  106461 VALVE,CHECK SWING,HORIZ,4",12-7/8"F TO F EA 

45.  106462 VALVE,CHECK SWING,HORIZ,FLNG,6",125LB EA 

46.  106463 VALVE,CHECK SWING,HORIZ,6",14" F TO F EA 

47.  106466 VALVE,CHECK VERTICAL,1-1/4" EA 

48.  106467 VALVE,CHECK VERTICAL,1-1/2" EA 

49.  106468 VALVE,CHECK VERTICAL,2" EA 

50.  106500 VALVE,GATE,SOLDER,BRNZ,3/4",150LB EA 

51.  106502 VALVE,GATE,SOLDER,BRNZ,1",150LB EA 

52.  106512 VALVE,GATE,FLANGED,RSNG STM,2-1/2",125LB EA 

53.  106515 VALVE,GATE,FLANGED,RSNG STM,3",125LB EA 

54.  106516 VALVE,GATE,FLANGED,FERROSTL,4",125LB EA 

55.  106517 VALVE,GATE,FLANGED,RISING STEM,4",125LB EA 

56.  106518 VALVE,GATE,FLANGED,RISING STEM,6",125LB EA 

57.  106519 VALVE,GATE,FLANGED,RISING STEM,8",125LB EA 

58.  106520 VALVE,GATE,FLANGED,RISING STEM,10",125LB EA 

59.  106521 VALVE,GATE,FLANGED,RISING STEM,12",125LB EA 

60.  106525 VALVE,GLOBE,BRNZ,125LB,1/2",SE EA 

61.  106526 VALVE,GLOBE,BRNZ,125LB,3/4",SE EA 

62.  106527 VALVE,GLOBE,BRNZ,125LB,1",SE EA 

63.  106529 VALVE,GLOBE,BRNZ,125LB,1-1/2",SE EA 

64.  106530 VALVE,GLOBE,BRNZ,125LB,2",SE EA 

65.  106533 VALVE,GLOBE,FLANGED,BRNZ,125LB,3" EA 

66.  106540 VALVE,PLUG,6",C.I.175LB,W/HAND OPERATOR EA 

67.  106541 VALVE,PLUG,8",C.I.,175LB EA 

68.  106542 VALVE,SOLENOID,1/2",110-120V,#8210G2 EA 

69.  106555 VALVE,SOLENOID,1/2",110-120V,#EF8210G94 EA 

70.  106566 VALVE,RADIATOR ANGLE,STEAM,3/4" EA 

71.  106580 VALVE,REG/PRESS,REDU,3/4" WATER EA 

72.  114316 VALVE,RADIATOR,STRAIGHT,MODEL RA2000,1" EA 

73.  114422 VALVE,CHECK,3/4",CONBRACO#61-104-01, EA 

74.  115154 VALVE,SOLENOID,1/4"AUTOMATIC DRAIN VALVE EA 

75.  115227 STRAINER,DUPLEX,HAYWARD/EATON,1-1/2" EA 

76.  115585 VALVE,GATE,4-BOLT,IRON,4",CLOW #F-5065 EA 

77.  115704 VALVE,RELIEF,3/4",T&P,120LB/210 DEG EA 

78.  115713 STRAINER,WYE,REPLACEMENT SCREEN,#4385K44 EA 



Contract 15-025-12, Group C (Re-Bid) 

#15C25—VALVES 

ITEM # MM #  DESCRIPTION U/I 

79.  115864 VALVE,GATE,SLDWDG,BRNZ,150LB,1/4",SE EA 

80.  115865 VALVE,GATE,SLDWDG,BRNZ,150LB,3/8",SE EA 

81.  115866 VALVE,GATE,SLDWDG,BRNZ,150LB,1/2",SE EA 

82.  115867 VALVE,GATE,SLDWDG,BRNZ,150LB,3/4",SE EA 

83.  115868 VALVE,GATE,SLDWDG,BRNZ,150LB,1",SE EA 

84.  115869 VALVE,GATE,SLDWDG,BRNZ,150LB,1-1/4",SE EA 

85.  115870 VALVE,GATE,SLDWDG,BRNZ,150LB,1-1/2",SE EA 

86.  115871 VALVE,GATE,SLDWDG,BRNZ,150LB,2",SE EA 

87.  115872 VALVE,GATE,SLDWDG,BRNZ,150LB,2-1/2",SE EA 

88.  115873 VALVE,GATE,SLDWDG,BRNZ,150LB,3",SE EA 

89.  116213 VALVE,GATE,1",SCREWED,800LB.,O.S.&Y. EA 

90.  116225 VALVE,GATE,1-1/4",SCREWED,VOGT#THD13111 EA 

91.  116604 VALVE,CHECK,3/4",800LBS,VOGT EA 

92.  116646 VALVE,BALL,4",JAMESBURY#47150-312236XTZ1 EA 

93.  117264 VALVE,GATE,3/4",STEEL,1975 PSI,100 DEG.F EA 

 


